Ratio to ATLAS

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.5

1=

7000 GeV pp
ARLEE B B BN B

Asymmetry vsn (muon channel)

. m ATLAS _
| --3-- Herwig 7.2.1 default i
— —— Pythia 8.301 default ]
- oo ]
[ P P RN PO TR SOV NN TN AN NN PN R NP AP A R BT A I ||
:l T T T T | T T T T | T T T T | T T T T | |:
- gy N
— -|- 4 - \ ]
L /! \fij —
L ]
| " I_Iu 1 1 1 " | 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " | " 1
0 0.5 1 1.5 2

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


